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15) (3, -2)

16) (-4, 3)

17) (5, 4)

18) 19.6

1-7
1) Trapezoidal Prism: Bases – HKJI and LONM

2) Cylinder: Bases – Circle Z and Circle T

3) 

4) Surface Area = 189π; Volume = 
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, where height =  
[image: image6.wmf]63


5) Surface Area = 1534; Volume = 4080

6) Surface Area = 120π; Volume = 175π

7) Volume = 16π

8) Height = 5.3
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1) -0.5

2) 
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3) 2/3

4) -2/5
5) -2/5
6) 5/2
7) Neither

8) Perpendicular

9) Parallel

10) Perpendicular
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5-4
1) yes

2) no

3) yes

4) no

5) yes

6) yes

7) no

8) yes

9) 13 < x < 25
10) 22<x<26
11) 14 < x < 40
12) 5 < x < 41

13) 13 < x < 63

14) 8 < x < 70

15) 36 < x < 48

16) 47 < x < 61
17) no

18) yes

19) no

20) yes

21) 3

8-2
1) 
[image: image26.wmf]698


2) 
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3) 
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4) 
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5) 
[image: image30.wmf]60


6) 
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7) yes, Pythagorean theorem does work

8) no, Pythagorean theorem does not work

9) yes, Pythagorean theorem works

10) no, Pythagorean theorem does not work

11) sides of a right triangle; Pythagorean triple

12) not sides of a right triangle; not a Pythagorean triple

13) sides of a right triangle; Pythagorean triple

14) sides of a right triangle; not a Pythagorean triple (need to be whole numbers)

15) sides of a right triangle; not a Pythagorean triple

16) sides of a right triangle; not a Pythagorean triple
17) 
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8-3
1) x = y =
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2


2) x = 
[image: image34.wmf]253

, y = 50

3) x = 13, y = 
[image: image35.wmf]133


4) x = 45°, y = 
[image: image36.wmf]142


5) x = 
[image: image37.wmf]3.53

, y = 7

6) x = 
[image: image38.wmf]112

2

, y = 
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7) b = 12, c = 
[image: image40.wmf]83


8) a = 
[image: image41.wmf]63

, CD = 9

9) CD = 
[image: image42.wmf]23

, b = 
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, y = 6
10) 
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11) (3, 
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)
12) (-2, 2)

13) 
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8-4
1) sin L = 5/13; cos L = 12/13; tan L = 5/12; sin M = 12/13; cos M = 5/13; tan M = 12/5; 

2) sin L = 1/2; cos L = 
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; tan L = 
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3

; sin M = 
[image: image49.wmf]3

2

; cos M = ½; tan M = 
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3) 0.95372

4) 0.52057

5) 0.42578
6) 
[image: image51.wmf]310

10

= .94868

7) 3

8) 
[image: image52.wmf]10

10

=.31623

9) 51.4°

10) 13.3°

11) 50.2

12) 64.4°

13) 18.1°

14) 24.2

15) 31.2

8-5
1) elevation: angle YZR; depression: angle TRZ

2) elevation: angle LMR; depression: angle PRM
3) 13.5°
4) 21 feet

5) 22.3 feet

6) 2493 meters

7) 27 feet

8-6
1) 3.7

2) 16.6

3) 24.3
4) 12.9

5) 13.8

6) S = 31.5, U = 63.5, u = 7.4

7) U = 10.4, T = 132.6, 48.9

8) u = 4.7, S = 126, s = 6.4

9) u = 17.3, T = 59, t = 17.3

10) U = 44.3, S = 69.7, s = 29.2

11) T = 66.2, U = 24.8, u = 6.4

12) t = 9.9, S = 8, s = 1.4

13) s = 16, U = 49, u = 12.2

14) 91.8 meters

8-7
1) l = 9.8

2) k = 8.4
3) l = 10

4) j = 8.2

5) Q = 75.7

6) M = 44.2

7) 60.2
8) 103.7

9) law of cosines; A = 41, B = 65, C = 74

10) law of cosines; c = 14.7, A = 15, B = 127

11) law of sines; A = 36, C = 95, c = 28.95

12) law of cosines; c = 19.8, A = 48, B = 60
13) G = 45.4, H = 80.6, h = 15.2
14) h = 17.4, F = 57.2, G = 75.2

15) F = 77.4, G = 42.8, H = 59.8
16) g = 30.4, F = 73.3, H = 53
17) 65, 54, 60 
9-1
7) none

8) 1

9) 4

9-2
1) no, translation should not change the orientation of the original image

2) yes

5) right 4, up 2

6) left 4, up 1

7) right 3, up 3
9-3
9-6
1) <6, 4>
2) <5, -8>
3) 
[image: image53.wmf]65


4) 
[image: image54.wmf]130


10-1
1) circle L

2) RL, LT, LW

3) RS, ST, RT

4) RT

5) LW

6) 7 yards

7) 9.5 meters

8) 6

9) 2.5

10) d = 15 mm, C = 15π

11) d = 72.5 yd, r = 36.2 yd

12) 25π

13) 58π

14) 4.75

15) 9.5π = 29.8

10-2
1) 59
2) 48

3) 73

4) 107

5) 121

6) 107

7) 38

8) 52

9) 142

10) 128

11) 232

12) 308

13) 9π

14) 4.5π

15) 11.25π

16) 12π

17) Less than 1 hour: 28.8°, 1-2 hours: 104.4°, 2-3 hours: 208.8°, 3-4 hours: 10.8°, over 4 hours: 7.2°

10-3
1) 96°

2) 48°

3) 96°

4) 15

5) 7.5

6) 15

7) 60°

8) 60°
9) 30°
10) 9

11) 28

12) 
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13) 40

14) 28

16) 56

10-4
1) 52°
2) 26°

3) 58°

4) 44°

5) 26°

6) 52°

7) angle 1 = 67, angle 2 = 23, angle 3 = 62, angle 4 = 28

8) angle 1 = 29, angle 2 = 29, angle 3 = 41, angle 4 = 41

9) 107°
10) 82°

11) 73°

12) 98°

13) angle RCS has to equal 70° because it is an inscribed angle

10-5
1) no

2) yes

3) x = 2

4) 
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5) 128
6) 154

7) 9.5
8) 34
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